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Paper / Subject Code: 37914 / Any one of the followmg Crlmmology and Correchnnal Admlmstratmn

Time: 2 Hrs.

1. All question are compulsory E
2. Figures to the right indicate full marks
3. Write relevant case laWs wherever necessary

¥

Q.1  Answer in not more than two sentences (Any slx) &

a) What is crxmmology?
b) Define Jjuvenile delmqueney
c) Define SpeCIaI home. Ci g
d) What are the objectlves of Pumshment‘? -
e) State any| two causes of Corruption.
f) What is'an observatlon home?

g) What'is v1ct:m010gy‘? ‘"-'5""“

h) Explain organized crime.’ w
i) Define Juvemle in need'c of care and proteetton
_]) “Who i is aProbatlon Officer? < o

Q.2 erte shurt notes (Any two

'f'-‘"'a) J u\remle Justlce Board. -
b) Cyber Crimes.
c): Whlte-collar crime.
dy. Preventlve theory :

b

.3 ¢ :_f"' Solve any two of the followmg Ko 12 marks

, 1 ‘A’ ‘B’ ‘C’ and ‘D are mvolved in an orgamzed crime and B commlts ‘murder,
What is the hab:hty of all of them? - <
b “State 5 measures to ‘curb orgamzed erlme

used and" rmpllcated ina murder and kept behmd bars for over 5

5 i ‘A’ was falsely a

years'as an under:ttlal B, a police officer demands a bribe to treat him well in prison.
a. Adv1se ‘Awhat can be done i in’ such a situation, i

b Suggest any 2 measures that can be undertaken td protect prisoners from corrupt

ofﬁcers n prlsons

3 Dhanu, a habltuaL cnmmal 1s convncted for rape; and sentenced to life imprisonment.

1) Can he be “released‘? If yes then under what prov1smns'7
‘ 11) What is the dlfference between probatlon parole and furlough?
4. A woman kdls her son as told to her by a baba so that she can get closer to god.
"~ Accordingly she poisons and kills her son.
a. Explam the offence _committed by the woman.
bi.f Explam the offence commmed" by the baba.
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Paper / Subject Code: 37914 / Any one of the following: Criqﬁ”ﬁology ami Correctional Admin

b) Discuss the sociological school of_df‘i%ino]og}f;%‘

c) Should Capital Punishment be abolished?

d) Explain in detail Prison reform if Tndia.
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Paper / Subject Code: 37914 / Any one of the following: Criminology and Correctional Administration.(wa(,uj

QP oo\ 22

Time: 2 Hrs. ‘ : Marks: 60

1. All question are compulsory.
2. Figures to the right indicate full marks.
3. Write relevant case laws wherever necessary

Q.1 Answer in not more than two sentences (Any six) 12 marks

a) What is the meaning of prison and lockup?

b) What do you mean by atavism?

¢) What do you mean by hedonistic and egoistic approach to criminal behavior?
d) State the scope of Criminology.

e) What is the cause of crime according to the pre classical school?

f) What are the characteristics of pseudo criminals?

g) What kinds of punishment are given under IPC 18607

h) What is Probation?

i) What do you mean by Organized Crime?

j) What is Victimology?

Q.2  Write short notes (Any two) 12 marks
a) Neo classical school of Criminology
'b) Preventive theory of Punishment
¢) Criminality in prisons
d) Habitual Criminals

Q.3  Solve any two of the following ; 12 marks

1. An executive is caught in possession of reasonable quantity of drugs.
a. Can he be arrested without a warrant? Give reasons.
b. Which court has cognizance in such matters?

2. A young soldier about 21 years who was neither intelligent nor vicious but was
subject to epileptic fits. During fits he attacked and killed eight comrades and
then fell into deep sleep of 12 hours and when awoke he forgot everything.

a. Which theory studied the case? How are criminals classified?
b. What are the causes of crime according to this theory?

3. A boy of twelve years wés a co accused in gang rape and murder.
a. Explain the act under which he will be tried.
b. State the remedies provided under the act.

4. Two persons were sentenced to life imprisonment and are well behaved.
a. Can they be sent to open prison? .
b. State the Advantages and disadvantages of open prison.

Q.4  Answer any two of the following 24 marks
a). Explain the Sociological Theory ' '
b) Write an essay on “Media and Crime”.
¢) Discuss the Indian Prison System with special emphasis on Reform.

d) Should Capital Punishment be abolished?

31122 Page 1 of 3

EC51D23A67324E8E28F36625473DBFES
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Paper / Subject Code: 37914 / Any one of the following: Criminology and Correctional Administration.
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Paper / Subject Code; 37904 / Cnmmology -and Correctlonal A“rrmmlstr t10n.

“1. All ﬂuestlons are ‘compulsury
2 Uséease laws,wherever requlred '

1 Under anch Act apnsoner falhng thhout sufﬁc:ent‘ cause to-observe a; any of the «

condmon on wh"ch parolewas granted to hnn s;hall be deemed to have cormmtted a
\/ pnson offence? W

2. xWhleh is ;hef’last Jury 1al Caseai’lncha un*der Crlmlnal Procedm;e Code 1.9 3
3i"Write any Two caus— es of Cr1mé5"

\\’

'Karnataka the Supreme Cour& @f India has given

3 n Penal code Wthh g;Ves immunity from e:l;lmmal
‘ f hablhty,te a person\of unsound mmd

8 Deﬁne Restltuﬁon‘?
9. What is pyromania?

10. Give two points of distinction between civil and criminal Administration of justice.

a1 SHORT NOTES (ANY 2).
1. White Collar Crimes.
2. Differential Association Theory
~3. Victim Compensation Scheme

4. Preventlve theory of Pumshment

w*fn

B

A bOy was begglng on the’road and was found in bad conipany
o 1) What’ls he categanzed as under Juven‘ile Just1ce“ "'ct?

Lol

,,1‘;0 protect §uch

P 2N

N

An accused Was found gu1lty u/s. 302 of IPC and wa fsentenced'%b under/go‘“hfe
dinprlsonment Durin ?_ihls perlqd in jail, he ‘Wwas allowe‘d benefit of’ release aﬂd had
: vnot mlsused his hbe,i‘tles J ¥
- 1)‘\ G)n what g:r

D368C1 AFSESFOFBBB642000DC027D2A0



G~ Fhe acpqSed was, q‘tfacked by an assaﬂamt In ordal: to save hlmself ha fired’ thew il
< assallant who was “under the;\mﬂuence;of drugs,amanaged tﬁ éscape but in proccss
four other pe:sons were agt:ldentally hit by th;: Bullet X
*1). What! effences ha“s the accn“sed committed?
i) What correctibﬁal method can be suggested'7

swer in Betall (AnyZ) ro ‘i}' ) & (24 marks)

Pes g o
1.State the difference between juvenile justice board and child welfare committee.

9, Explam in detall the Posmve schools of cr1m1n010gy
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N.B:

1. Answer in not more than two sentences.

() What is political graft?

(b) Write two theories of punishment
(c) Define crime syndicate

prisoner

(d) Give one problem of undertrial

(¢) Define legal aid

(f) What are observation home

(g) Give merit of parole and probation

(h) Give different kinds of punishment

(1) Define shelter homes

'(J)) What is Criminology

48

1 structural disorder discuss.
f criminals in prison,

t of crime.
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g crimes.
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ii.

(b) Shyam
-\ . ﬁ" 4;-' %

(b) Power of prison officials

(c) Criminal gangs
(e) Corporal punishment

(a) Jail Manual
(d) Habitual Criminals
(f) Compensation to vi

2. Write short notes (any four)-
3
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N.B.:

1. Write in one line only:-

a)
b)
c)
a d)
e)
j)
g
h)
i)
b))

2. Write short note (Any Four).~*«
Interpol

a)
b)

3. Answer Anyg'?ifyito\

Paper / Subject Code: 38004 / Any one of the following. Eriminology Lnd Cor{-e

1) Al questions are compulsory,
2)  Figures to the right indicate full marks.

LLB sewm - T

BLS Seim ‘—CO%Q.:E)

Please check whether you have got the right qumn:g‘%’p
e

oy

What do you mean by victimology?
What do you mean by penology?
Kinds of punishment,
Define organised crime.
What is Kleptomania?
Name 2 schools of criminology -
What is political Graft >
What are causes of Juvenile Déling
Define Neglected Juvenile, <
What is crime Syndicate

s

&

ny: Tyvo Fab 12)
a) RaJnuR@p ed- her ntence to life
Loabs e T
£ ) Cai Hebereleased o piobafon,.
e Distinguish Between parote and piobation.
Whgwan
A 3 S5
2o sentent sedc o
0 it e
werin defif - o
A W\\\EXPT\*:» a.‘a

~ w‘ﬁ? g
@)ﬁﬂnﬁzp@;ﬂ@a@g\es of Juvenile Delinquency,

«
o
3

la
ite"in détailprison Reform in India,

laintheory' of Differential association.

Page 1 0of 3

E023F6F1A039339251F9547B7C818B97



r P ST (B pie D W
c

ERE B
o ‘ﬁ' S

Paper / Subject Code: * tu?g{g“ e

Please check whether you have got the ﬂgﬂh&ﬁﬁﬁié
! i 2% ? A AN

s el s R, By

-

Page 2 of 3

E023F6F1A039339251F9547B7C818B97



Paper / Subject Code: 38004/ Any one of the following. Criminology and Correctio)

o

3. Telald FURE GF T e

Page 3 of 3

E023F6F1A039339251F9547B7C818B97




7o £9°X

9

bility

15a

v

to Lombroso

C@’}W'Tﬁdicfjirj
ing

»

il

I

LB S em
BlA S8 Hours .

inals accord
What are kinds of punishment?
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All guestions are compulsory.
All questions carry equal marks.

o’

What are the contribut’ ng factors for
Interpol

‘What are various causes of crime?
f. State the meaning of criminology.

g.  Who is delinquent Juvenile?

h.

What are the reasons for mental d

Openp
Cyber Crime.
Police Sy
Kleptom

1)
Who

2)
Answer in not more than fWQ sentences.

Write short notes on (an '

a.
b.
C.
d.
.
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Write in brief (any four)

Q4.

?

terrelated comment

Poverty and crimes are in

a.

logy?

1mino

Enumerate different schools of cr

b.

ain various theories of puni

Should capital punishment be abolished? Explain.

Expl

e
d.
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Q.1 Answer.in not more than two sentences
a) Whatis organized crime?
b) Anytwo causes of drugs addition
c) Any two causes of Juvenile delinquency
d) Whatis patrolling
e) What is victimology
f)  Whatis crime syndicate
g) Whatis Black marketing
h) Define children’s home
i) Define special home
i) What is pyromania

Q.2 Write short note (Any Four)
a) White collar crime
b) Positive school
c) RAW
d) Cyber crimes
e) Open Air prisons
f) Self-Governmei* in;

Q.3 Solve any two

12
a) Ram went to the police, -
took a rod and hit hi?ﬁ»b ad. 28 AT
i.  What offe;nce Rgm“:ﬁasag m;ljit ég:L ;\ B
ii. Isthe péxf' .(ﬁgﬁiﬁ ﬂi}@%}‘&‘@ef g‘j\% -@@ -
ntma ot 'I;As\epgré‘tt@m‘she for the time being indulge
“money;he E b"‘l‘e;m:gotm “6J§f”ed She then left the prosi;tution
g gtoﬁimst;&dﬁ"}jo
48

verbe corrected”- comment on this statement keeping in mind
It n Indla
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N.B. :

1=

)

Ansv/er in not more than two seniences. == 20

(a)
(®)
(c)
(d)
(e)
®
(&)
(h)
)

G) .

Covimine togy L ALK AN
Wil ey e

S QP Code : 304300 ,
o N“’”ﬂ@/é

( 3 Hours) = [ Total Marks : 100

(1) Answer the questions as per the instructions given below.

Define Criminology. pe
‘What is the obiect of punishment? &
What is Pyromania? g
Any two offences committed by Women. Py
Any two schools of criminology. ‘ s
Write a definition of white collar crime. iy
What is parole? “2?‘1
What is sex racketing? f’;{:}\{%
Name any two Open-Air-Prisons in Maharashtra. A

Who is a neglected juvenile? Q‘Q

»

Write short notes on any four of the followmg\ ' 20

(2)
(b)
(c}
(d)
(e)
H

Poverty as a cac:e of critne ¥
o
Organised Crime ’;};‘“
Juvenile deling:ency S
Sin and Crime
Cyber Crimes L e : '

Born Criminal The~ry p:\
oy

\\

i

Answer any two ofthe F‘oﬁiﬁ@ wing: : 1 12

(2)

Sheela was ill treg;.ﬁ at her home by family members. She left home. Paru
have taken hqu\&t her home. She provided her with all her needs and she
treated her ¥ety well. Gradually she made her involved in a sex business
with her &@%sem When narents c:ine to resoie Sheela she didn't regnended
to thefﬁ*and she continued to stay there.

. Qhat offence Sheela have committed? Give reasons.

(1 \ ‘What is your opinion about prostitution as a pmfeSS1on'7

/
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(b) In a housing society, members _started harassing Ram's family. Ram
neglected the same and finally filed & police complaint. Police didn't take

any action. Finally Ram killed one of the member mmvolved in family

harassment, :
(1) TsRam guilty of any offence? How?

(1) Suggest any two ways if police didn't take action in such cases. .,

() Advise Arjun Whathe should do in such situation?

4. Answer any four of the following:
(a) Explain the following in detail = \{z‘\f
(1) Neo-classical Schoal ™
(1) 1. =ory of differncial Assocition ™
- (®)  Explain the following in detnil ] w
(i) Classical Theory P
(i) Positive School qfﬁ‘ 5
(¢) Expianin detail the multiple t.}.{u.‘"ﬂi’ of crime causation
(d) Write a detail note on prisondform in India,
(e) Expi.inin detajl the conceyfbfparole and probation, Suggest
for the same. 2 e
() Explrinthe fOHOWJ{]@}l detail
(1) Causecs of J'Ié:@,\ri‘ﬂe delinc']uency
(11) 77‘][61]’)01“{\%\;\
-y
5

P T e
. ’4' g e

.....

e §

e
/‘g\’
px 7

&

)
(1) Suggest any two ways to, curb such kind of practicesgjij;f—‘*pﬁson.

11y alternative
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N.B. : (1) Answer the questions as per the instructions given below. §ii¢
1. Answer in not more than two sentences. {“’?‘ 20
(a) What is penolo gy? {{?
(b) Define probation {é:}
(c) Define White Collar Crime * K
(d) What is Crime Syndicate? ‘ € r
(¢ Whoisa delinquent Juvenile? <&
() Whatis Special Home? ﬁi?‘\’
(g) Any two theorie of punishments %‘i‘“‘“‘
i (h) Whatis Cyber Crime? &~
(i  Anytwo causes of prostitution ,\{0
G) What s Victimology” {g‘,‘“
7. Write shurt notes on any four of the followglg:- ' 20
(a) Organised Crime g
(b) Home Guard Police -<§*}
(c) Scx Racketing ' {Jﬁ”
(d) Kelptomania o
() Lo Criminal Theor, \_""j}’?
® Neo-Classical scho%ff%'"‘
12

3. Answer any two of the fo@ving: -

(a) Sheela likes haying sex with many. She accepted that for enjoyment
as well as t@,z%ﬁm money. She engaged hersels 1 that and started having %,
sex Voluxﬁ%iily at her home. >4

i) ﬁ What offeuce sheela had committed? Give reasons
( Y Should Prostitution be legalised or not? Give reasons
(b) Shyam was fed up with the system because he felt that no-body is
é{éﬂowmg rules and regulations in India. Even officers are ot following
&Sﬁ'the same. He attacked one officer caught by Anti corruption department
¢ j;«’ and killed him.
& (1) Is he guilty of any offence? Give reasons
.‘.?F (i1) Suggest two ways to curb corruption
>

)
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= Ay@t:
(c) Krishna observed that many criminals becomes politicians, earned \,: =
huge money and the police officers once searching them for arr estaiif%
are now providing them police protection. S
1) Should politicians having criminal background be prov ided
with police protection? give reasons . (‘}5
(ir) What s political graft? <
| &
4. Answer any four of the following:- {Q 48
(a) Explain the following in detail As
() Juvenile Justice Board ‘Q‘gl‘ w2
(i1) Homeguard Police ; X;;? -
(b) Explain in detail @‘{3
@ Prison system in U.S.A. e =
(i1) Causes of Juvenile dehnquer&y/
(c) Explain the couvept of White Collar Cy.. “Ae and suggest means (o curb
it
(d) Explain in dc*~'1 the multiple the@i*y af Cnme Causation.
()  What is the objec: of pumshm@nt" Which theory of pumshmel
suitable to India? Explain ]Il‘@étall
) Explain in detail 0‘ : ez /
® Prison perfom‘m India (e
(ii) Born C run\x:{a‘a”f Theory .
N
o
i
AF 3
@ 5
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&
<
R
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(3 Hours) . [Total Marks 105?
N.B.: (1) Answer the questions as per the instructions given below. 7
I Answer is not more than two sentences. : viin 08 it
(2> Whoisa juvenile delinquent? ' 1

~ (b) What is kleptomania? : R B

(c) What is Black Marketing? o

(d) Any two causes of sex delinquency. iy

‘ : (¢) What is "Childrens Home"?
ot Sy () What is Criminology? ) I
i ek (g) What is shelter homes? R\
' . (h) Any two duties of police. - <&
(i) Define pardle.
(j) 'What is Crime Syndicate? S ARES

2. Write short notes (Any Four) : _ r,ﬁ,_:f;l‘:}”} : _ 20
(a) Neo-Classical Scucol. : Lyt :
* (b) Organised Crime. “
() Multiple Theory ~f Crime Caus.igan
.3) Prison Reform in InJia. \ 4
(e) Causes of Juvenile Dehnquency
(f) Capital Punishmewn: .

3. Answer any two of the follovs@ 12
(a) Bhikku raped a miy.ot girl and killed her. He wvas sentcnced to Life
~“1° . imprisonment. gv“\
' (i) Can hg: “be released on probation?
(n) Giys' 2:any two points of difference between parole and probation.
(b) Aboy ofj}? ars frund begging on road and was in company ofbad people. -
(1) <He shall be called as? ,
1) "What is the procedure for trial of Juveniles?
(c) ﬁgf..la was gangraged while in prison.
DY (i) Can she be rehabilitated? How?
{,; (i) Suggest any two ways to prevent custodial rapes.

\’hn.f’

4. Aijer any four of the following. ' - 48
i (a) - Explain in detail Dr. Lombroso's Theory of Born Criminals.
| :5‘”3' (b) Explain the following in detail.
o (i) Victimology.
N (i) Cyber Crimes.

'~ $Q-Con. 4851-15. ¥ TURN OVER
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2 £
(c) Explain the foiiowing in detail. o
(i) Women and Domestic Violence. ; s {7

(ii) Politic2l Graft. S e
(d) Explain the following in detail. '

(i) Juvenile justice in U.S.A.

(ii) Special juvenile courts.
(¢) Should death penalty be abolished in India? Explain in the hg;)!'_& ochrronsm
(f) Explain in detail the theory of differential Assoclanom : preiva—
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Answer the questions as per the instructions given below :—

1. Answer in not more than two sentences — | 20
(a) What is parolc?
(b) Define juvenile delinquent.
(¢) What is punishment?
(d) What is mens-rea?
: (e) Any two causes of sex delinquency.
. 9 ' (f) Any two causes of crime.
‘ 4 (g) What is Ecology of crime?
7 __,-"" (h) Any two problems of prisoners.
: (i) What is kleptomania?
' (G) Define viciimology.

2. Write short notes (any four) :— 20
(a) Classical sch nl
(b) Positive school
(c) Freud’s theory
(d) White collar crime
(e) Religion c~d crime
(f) Women and comestic violence

| 2. Answer any two of w2 following — 12
(a) ‘A’ an insame jerson killed his friend and was sentenced to life
imprisou.cnt. While in prison he L:-ame more violent and sta-ted
demandir:g his release on parole
(i) Can he be released? Give reasons.
{¢i) Was the punishment justifiable? =
(b) A toy of 7 years found begging on road and was in company of 2
vad people. 2
(i) He shall be called as?
~ (ii) What is the remedy available under the Juvenile Justice
Act to protect such childrens?
. (¢) Sheela was gangraped and was found in brothel house.
i (i) What is rehabilitation?
f ; _ (ii) How you would help her to become a dignified women?
' [ TURN OVER
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4. Answer in detail any four of the following:-
(2) Explain the following in detail
- (i) Prison reform in India

(i1) The women police

(b) Explain the following in detail
(i) Crime syndicate
(11) Classical theory

(c) Explain the following in detail.
(i) Parole and probation
(ii) Conﬂlc}w theory of crime

(d) Should death.penalty be abolished in India? Explam in the light of
terrorism:

(e) Explain in detail “The Multiple Theory of Crirrie causation”.

(f) What do you mean by Jjuvenile delinquency? Vv'hat are its causes?
Suggest means to curb it.

48
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N.B.: (1) Answer the questions as per the instructions given below.

1. Answer in not more than two sentences (2 marks each) :— c ' o0
(a) Define criminology ;

'(b) Name any two open prisons in Maharashtra

(c) - Who is a recidivist? \

(d) Name any two kinds of cyber crimes

(¢) What is Inchoate Crime?

(f) Give any two reasons of juvenile delinquency

(g) Name any two causes ‘of crime as believed by the pre-classical school -

(h) Define organised crime

(i) What is probation?

(j) What is crime prevention?

2. Write short notes on auy four - art - " _ 20
(a) Police system : ,
(b) Habitual and nrofessional criminals - -
- (c) Reformative theo.v
(d) Classical school
(e) Cyber crimes
(f) Conditions of parvic.

' 3. /nswerany two — , i 12

(2) One celebritv involved in criminal activities against the state was convicted
and sentenced tc five years of rigorous ii-prisonment. While serving his
~ sentence in one of the central jail he was reieascd thrice on parole on the
ground of his wife’s illness. 5
(i) Is it just and fair? Give reasons
(ii) What ic parole?
(b) An accused was sentenced to life imprisonment for a charge of murder. He
was 30 years of age and was well behaved in prison.
(i) Can he be sent to an open pnson‘? State the characteristics of an open
prison.
(i) What are the advantages and disadvantages of an open prison?
(c) A child of 12 years of age murdered his father because his father ill- treated ¥
him. the mother informs the police about the murber.
(i) In which court and under which Act the matter will be tried and why?
(ii) What kinds of punishments are given under the said Act?

Con. 81 9.‘.‘3-14. : e , [ TURN OVER
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4. Answer in detail (any four) :— ' 48
(a) Explain in detail multiple theory of crime causation
(b) Elaborate organised crime and discuss the set-up of the criminal organisation.

(cy Explain in detail Raffaele Garofalas Classification of Criminals and
Lombraso’s Born Criminal Theory. :

(d) Explain the procedure of Juvenile Justice Board and Working of Juvenilé
Courts in Tndia. : s

(e) Explain the following in detail :— : :
(i) M'Naghten’s Rule of Crimiual Responsibility
(i) American view on personality aspect of criminals.

(f) Explain in detial the problem of custodial deaths in India with two cases and
suggest measures to eurb it. ;

. e
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~-  N.B.: Answer the questions as per instruction given below.
\\/ “Answer in not more than two sentences:i— : 20
(a) State any two causes of crime committed by women.
(b) Name any two theories of punishment.
(c) What is patrolling? :
(d) What is the meaning of special honies?
(e) What do you mican by free will theory?
(f) Write sutherlands definition of white collar crime,
(g) Write any twe causes of juvenile delinquency.
~ (h) What is probation?
(i) Name any two Schools of criminology.
(G) What is organised crime?
Write short notes on any four of the following:— _ 20
(a) Mc Naughten’s Rule of Criminal Respon51b111ty
(b) After care programme
(c) Neo-classical School
(d) Freud’s Theory of criminal behavious
(e) Probation
(f) White co!!~~ crime in medical profession.
3. Answer any two of the following:— 12
(a) A boy of 14 vears wa§ a co-accused .. a murder case —
(i) Explain the procedure under which he can be tried.
(ii) sugest the remedies for (ese kinds of cases.
(b) An accused waus found guilty under S 504(b) of the [PC and was sentenced to
rigorous imprisonment for 10 years. His behaviour in jail was good —
(i) Cau he be released on proba!ion? Give reasons.
¥ (ii) Distinguish between parole and probation.
(¢) Session court convicted a pregnant woman for committing offence of murder
and awarded life imprisonment —
(i) Can she be released for dclivery of her child? Give rcasons.
(ii) Write any two problems of women prisoners in jail.
4. Attempt any four:— 48

(a). Write a detail noe on the Sociological School of Criminology.
L(b) E/plam the following:—
e (i) Prison reform in India
(i1) Nullum crimen sine lege
.(c) Explain any two schools of criminology in detail.
(d}/ Discuss the arguement for and against capital punishment.
e) Explain the following:—
(i) Functions of police
(ii) Special procedure of Juvenile Justice Board.
(f) The aim of victimology as a science is to help the sufferers of crime. Explain.
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[ N.B.: Answer the questions as per the instructions given below.]

- 1. Answer in not more than two sentences — ‘ ' 20

(a)
(b)
(c)
(d)
(e)
€9)
(8
(h)
(i)
G)

Define Pehology.

What is Inchoate crime ?

What i< Cyber crimes ?

What is Kleptomania ?

What is Incest 7

Who is a Recedivist ?

Any two offences committed by womens.
Who is a Juvenile delinquent.?

What is pathological arson ?

Sutherland's definition of White Collar Crlme

2. Write short notes on (any four) — . 20

@)
(b)
(©)
(D
O
®

Li. Lombrozo's Born crimiua! theory
Multiple theory of crime causation
Mullum erimen sine lege

The problem of criminality in p.isons
Nnen air prisons :
Juvenile Justice Board.

3. Solve any two :— ' ' 1z
(a) One so called social woﬂ{er was running a ‘Mahila Ashram’ in a village. He

molested two womens. One women filed a complaint and the social worker
was arrested.
(i) Can he be released on probation ?
(i) What punishment you would like to suggest ?

(b) Five persons committed Robbery. Out of which one waus driving a car, second

person kept watch and three were actually involved in crime commission.
(i) What is liability of all of them ?
(ii) What punishment you would like to suggest 7

(c) A child committed an offence of theft.

(i) Will he be exempted from criminal liability 7
(i1) In which court he will be tried ?

[ TURN OVER

rZQB




170 15T HALF-13 (o)-JP
Con. 4988-NG-7534_13. 2

4. Attempt any four — 48
(a) Explain the following in detail :-
| (i) Neo-classical School
(ii) Differential Association Theory.
(b) . Explain the following :—
(1) Crime syndicate
(ii) Death sentence in U.S.A_
(c) Wrile a detailed noic on Custodial Torture in prisons with atleast two case Jav-<
on it. : {
(d) What are the differcnt theories of Punishments ? Which according to you is
suitable in India ?
(e) Define white collar crime. Critically examine Sutherlands views on white collar
Crime, . ; “ :
(f) Explain in detail organised crime and suggest atleast five measures to curb i,

(Tet wuiar) : :
(3 ) [T - goo
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- N.B. Answer the questions as per instructions given below. 3
1. Answer in not more than two sentences — 20
(a) What is criminology ?
(b) Write any two. measures (o prevent white collar crimes.
(¢) Name any four causes of crime. ‘
; (d) State the different kinds of punishment under IPC. :
A (e) Define Prison.
(f) What is kleptomania 9
(g) Whois a boin ctiriinal ?
. (h)  What do you mean by indeterniinate sentence ?
(i) What is Political Graft 9
% (i) .- Write two causes of Recidivism,
2. Short notes (any four) :— . 20
(a) Reformative Theory :
(b) Forms of punishment’in Ancient Period

{c) Police goals and ai;.~tives
(d)y Interpol

{¢) Home Guard Police

(£) Alchoholism.,

3. Answer (any two) :— . 44
() Juvenile deliquents are ~ften arrested and sent to jails. They are sent to Juvenile
homes only later, but by then their exposure to adult criminals reduce their
chances of reform. :
- (1) Which are the different boards constituted under the Juvenile Justice
Act 7 State this powers.
(ii) Write & note on Juvenile homes constitu*~d under the Act.
o (b) Ten persons were involved in organised crime one commits murder.
(i) What is their liability ?
(ii) State the measures to curb organised ciiiie,
{(c) A newly wed woman who was harassed by her inlaws kills her husband. She
was convicted for life imprisonment.
(i) What kind of work is given to women offenders in prison ?
(if) What is the role of woman in modern society ?

[ TURN OVER

ey Y



63 : 12.F.nd.mk

Con. 10052-NM-7995-12, ‘ 2
4. Arlgwers (any two) — 48
(a) Discuss Multiple Factor Theory of Crime Causation.
(b) - Write a detailed note on “Cyber Crimes”.
(c) Explain and distinguish Probation and Parole.
(d) Should Capital Punishment be abolished ? Discuss.

(e) The aim of victimology as a science is to help the sufferess of crime”. Explain.
(f) Which are the different theories of punishment ? Which according to you is :
suitable in India ?
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[N.B.:— Answer the questions as per the ins.tructio'ns g'iven ‘below.]

1. Answer in not more than two sentences (2 Marks each) :— . 20
(a) Special Homes means what ? i
(b) What cdo you mean by Certified Schools ?
(c) What is Picbation ?
(d) What is Kleptomania ? = - ;
(e) Any two causes of Recidivism
() What do you mean by neglected Juvenile ?

T (@@ What is Sin and Crime ?

> (h) Any two causes of White Collar Crime.
() What do you meéan by organised crlme ?
() What is polmcal graft ?

N
c?

2. Write short nots€= on any four of the following :—
(@) Patrolling cnd Surveillance
(b) Modernisation of Police
(c) The concapt of Parole
(d) Prevention of Recidivism
(e) Capita! Punishment
() Neo-classical School of Crimiology.

3. Answer any two (3ix marks each) :— : 12
(@) An unsound mind Juvenile Committed offence of murder —
(iy Will he be exempted {:om criminal liability ?
(i) Is death penalty advisible ? if yes, why ? if no why ?
(i In which Court he will be tried ?
(b) Ten peoples were involved in organised crime. They decided to surrender
to the police —
(iy Can they be excused ?
(i) What is organised Crime ?
(iii) ~Any two measures to curb organised crime.
(c) One life Convict Commits Murder —
2 (i) What will be the punishment for him ?
+ 4 (ii) What is capital punishment ?
(iii) Can he be released on probation ?
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4. Attempt any four :—
(a) Explain the following :—
() Dr.Lombroso's theory of Born Criminals
(i) Child Welfare Committee and its procedure.
(b) Explain the following :—
() Nullum crimen sine lege
(i) Nulla poena sine lege
(c): Explain the following :—
() Characteristics of crime
(i) Intention and motive distinguished.
(d) Explain the following :—
() Multiple thsory of Crime Causation
(i) Hoarding, Black Marketing and Adulteration.
(e) Explain the following :— ]
() Prison reform in India
(i) The problem of undertrial prisoners.
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N.B. : Answer the questions as per instructions given below.,

1. Answer in not more than two sentences '—

(a)
(b)
(c)

Write definition of white collar crime by Sutherland
What is Crime Syndicate ?
What is Patrolling'?

) What do you mean by free will theory ?

What is kleotomania and pyromania ?

What do you mean by cyber crime ?

What is the object behind Deterrent Theory oi punishment ?
What do you mean by wc’umology ?

What is parole ?

Define Criminology.

2. Write short notes on any four of the following :—

(a)
(b)
(c)
(d)

)

(f)

—n

M'Naghten's Rule of Criminal Responsibility
Positive Theory

Free-will Theory

Organised Crime

Juvenile Delinqueiicy

Kleptomania and Pyromania.

3. Answ rany two (six marks mach) —

fa)

(b)

(c)

A child below sevan years committed mwder of an adult.
(i) Whether he is criminally liable ?

(i) What is absolute exemption from criminal liability ?

(iif) What is the Ciiminal liability of a child above seven years of age ?
A boy of 16 years was a co-accused in a rape case.

(i) Can he be tried under the Juvenile Justice Act of 2000 7

(i) What are the causes of Juvenile delmquency ?

(iii) Any two renicdies for Juvenile deiinquency. -
An accused was found guilty under section 376(2) of the Indian Penal Code
and was sentenced to life imprisonment. During his period in J2il he was
allowed benefit of release and had not misused his liberties. _
~ (i) On what grounds can an accused be released while undergoing

imprisonment ? ‘

(i) What are the objectives of so releasing the accused ?

(ili) What punishment you would like to advise ?
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4. Attempt any four :—
(a) Explain the following \—
(i) Nullum Crimen sine lege
(if) Nulla Poena sine lege
(iii) Crime Syndicates.
(b) Explain the following :— :
(i) Raffaele Garofalas classification of Criminals
(i) Dr. Lombroso's theory of born Criminals.
(c) Explain and distinguish Classical school and Positive school.
(d) (i) Explain Frued's theory of Criminal Behaviour.
~(ii) Distinguish between Probation and Paro!e
- (e) Explain the following :(—
(i) Juvenile Justice Board and it's procedure.
" (i) Child Welfare Committee and it's procedure.
(f) Explain the following :—
(i) Prison reform in India
(i) Multiple factor theory of Crime Causation.
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- - N.B. : Answer the questions as per instructions given below.

- 1. Answer in not more than two eentences (2 marks each) :(— 20
(@) ‘What is patrolling ? : ‘ ‘ :
(b) -What do you mean by free will theOry ?

(c) What is Criminal Anthropology ? .

(d) Definition of crime by 'stephen’

(e) Any two characteristicc of crime

() Definition of Law by 'Salmond'

(g) Two causes of Recidivism :

(h) What is probation

(i) Edvin Sutherlands definition of white collar crime
() What is cyber crime ? ‘

. 2. Write short notes on any four of the following (5 marks each) :— 20
(a) Neo-classical school

(b) Kleptomania and pyromania

(c) Open prisons in U.S.A.

(u) Organised Crime

(e) Special Juvenile Courts

'y Ecology of Crime. '

3. Answer any two :—
' (a, A child below seven ycars commited murder  * an adult

() Whether he is criminally liable ? _ W _' 2
(i) What is absoiute exemption from crinui. ‘al liability ? T,
(iii) What is the criminal liability of a child above seven years of age ? 2

h) A boy of 16 years v.1s a co-accused in a iape case.

(i) Can he be tried under the Juvenile justicc Act of 2000 ? 2
(ii) What are the causes of Juvenile delinquency ? 2
(i) Any two remedies for Juvenile delinquency. 2
(c) The accused was attacked by an assailant. In order to save himself be fired
at the assailant who was under the influence of drugs managed to escape, but
in this process four other persons were accidently injured by the bullet.
(i) What offences the accused has committed ? 2
(i) What is the Criminal liability of a person who is under the mﬂuence of ¥ 2
drugs ?
(iii) What correctional method you would lilke to suggest for them ? 2
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4, Attempt any four .—
(a) Explain the following :—

(i) Nullum Crimen sine lege
(i) Nulla poena sine lege
(i) Lombroso's classification of Criminals.

(b) Explain the follawing :(—

(i) Raffzele Garofalos C|aSSIfICE!tIOn of criminals. -
(i) Neo-classical school of criminology.

(c) Explain and distinguish-classical school and positive school.
(d) (i) Explain the Role of Police in Juvenile Delinquency.

(i) Explain Historical perspective of probation Law in India.

(e)(a) Explain Freud's theory of Criminal Behaviour.
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(b) Aristotle's four laws of Association— —explain briefly.
() What is organised crime ? Discuss in detall criminal organlsatlon.
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